0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVI %XGDIRNL ~li
ZHIHVEIPpO\HIV] i PRIV
ZHIHVEIPPO\
9ilEtly $QGUIV
QIHIUNTY 9% . 1.(7 -l +yQDS 6Dlil &VRSRUI EW]HVHQ
BBBBBB BBBBBBBBBBE BBBBBBBBBBE BBBBBBBBBBBB
9UJVNE XIFD s
48 7$+7T7)$/8 75+, o
BBBBBB BBBBBBBBBBE BBBBBBBBBBE BBBBBBBBBBBB
18(
dplpY 1$( €éW]IHVHQ
RV JiU DNI pUt
—XIDIpNHV] § PRIV
6101
+v0ODS
+8) (85
6THPPINHV pUIpNHIpY 1$C P——
s 6Dl 7§ PRIDIVL IXIDIpN
)  [YHIIXIDpN
%( 6Diil C[IUD -XIDIpN
% &VRSRU BBEBBBBBRBRBERB BBBBBBBBBE BEBBBBEBEBR
_ULJHIpV
BIiIXV]
+DYLIHIHVIIPpQ\
YRIJDRP , +8)
$IiQIV] .[IG|S  6]HIJEGE (J\VpJ  7ISXV  7DWD  7DUDP TV NiV —XIDIpN
9$5*$ *E%25 3 *p: x *5%: (
9$5*% *E®25 3 wmso= *5% = (
OE7<E6 /E6=/T1e .25 =gz * *5% 1 (
3(7571 /E6=/T1e 3 *$- * *5% = (
+(B&=(* /E6=/T1e 3 rpz * *5% 1 (
YRIDRP ,, +8)
$IiQIV] .IIG|S  6]HIJEGE (J\VpJ  7ISXV  7DWD  7DUDP %]V NiV —XIDIpN
6]pIDJ 6]U¥ID
+(B&=(* /E6=/T1e $C  *$: > *5% = (
GWTHVEHN pUipN
YRIDRP , (85
$IHQIV]  .[IGIS  6]HIEGE (I\VpJ  7ISXV  7DWID  7DUDP  %AJU iV —XIDIpN
%66 %URNHU 6HUYLFH 6\VIHP
THIHVEIP pQ\HIV] i PRIV 9ilEtly $QGUIV



O,& %LTIRVEITVL SINXVT - W
+ %XGDSHVII %XGDIRNL ~i

DRUWDRP ,, (85

$IQV] .IWG|S  6]HUJEGE (I\VpJ  7ISXV  7DWID  7DUDP %]l -XIDIpN

QVVIHVEIHIN pUipN

$] HIV] i PROi VWD) NDSFVRIDIRV UHNIDP i FLyNDI NpUl N tUiVEDQ D] HIV]i PROiV NpTKH]YplHIpi [0 Vi PtRIN - KpIHQ EHI 0 D] O,& WRGiEDQ tHDGQL

%66 %URNHU 6HUYLFH 6\VIHP
7HIHVEIPpQ\HIV] i PRIV 9ilEtly $QGUIV



